Choose the correct answer

1. Aliis than Bader. ( Ali=120cm Bader=130 cm)
tall - taller - taller than - the tallest

2l _ wmde. | (ARugon sadeeamen
tall - taller - taller than -  the tallest

3Ahmedis_______oneofthethree.  (Ali-0cm Bader=130cm  Ahmed=150cm)
tall - taller - taller than -  the tallest

4.Car A is ___than car;_ ( c;r_;; 900(;“__Car B= 8_000] - N

expensive - more expensive - the mostExpensive

5. Car Ais car of the three cars . ( car A= 9000 CarB=8000 CarC=7000 )

expensive - more expensive - the mostExpensive

6.Aliis than Sami . (Ali=10 Sami =9)
good - bad - better — betterthan —thebest - worse - the worst
7.5ami is than Ali . (Ali=10 Sami =9)
good - bad - better — betterthan —thebest - worse - the worst
8.Aliis student in the class. ( Ali=10 Sami =9 Bader=8 )
good - bad - better - betterthan -thebest - worse - the worst
9.Bader is student in the class . (Ali=10  Sami =9 Bader=8 )
good - bad - better — betterthan —thebest - worse - the worst
10.Sami is than Bader . (Ali=10 Sami =9  Bader=8 )
good - bad - better — betterthan —thebest - worse - the worst
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